-~ —— :
=7 TWOWA)Ye uvorauvtic

: 2 2 3 * 2 3
7900 EH 1)

geas’| Valveog
lange-clampedilype =

P ————

m

www.taicoln.com

i




w R

Pre-Fill Valves(flange-clamped type) =

8OV ETYBRAGLIC,

/C?:Vf B[] Pilot port

[E=

SR | High-Pres. side

STF

It

Special Features

© BEfE/\ > BRIFE

® KBS - REX

© IS - MAMEE

© MEFERIEN - FLIEENEHER

© IRBHFFRRMEE N - BOBRIAFHER
© JEEKERMIEH

@ Small size and easy to install.

@ Low pressure loss and high flow capacity.

@ Simple structure and good durability.

@® Steel body and steel components, 10 models for selection.

@ Ductile cast iron body and steel components, six models
for selection.

® Can be directly installed on the cylinder cap side.
2
N




SEHSAYSE How to order

SVF-100-21C

®

@ O

R“Jﬁ / Dimensions(unit: mm)

@ 7233/ Model @ #818 / Size ©

(SVF-32)~(SVF-250)

SVF-32 / SCF-32
SVF-40

SVF-50 / SCF-50
SVF-63 /| SCF-63
SVF-80 / SCF-80
SVF-100/SCF-100
SVF-125/SCF-125
SVF-160

SVF-200

SVF-250

49
56.5 732
72 89.1
87 105.7
108 1305
130 155
170 200
220 250
272 310
350 398

91
92
125
150
185
226

YL BU® / Specifications

#3¥ Model

108
128
143
169
210
248
310
390
490

SVF/SCF

39
42
50
57
70
89
120
145
177

(8CF-32)~(SCF-125)

28 76.5
29 o1
33.5 105
38.5 117
44 150
51 190
70 225
95 286
110 372

SVF-&x=fjscm4

BB #h
i oo el ool oo e [ [Rad ot

11.5
13
15

14.5
15
16
20
30
40

62
62
62
62
62
70
70
85
85

PT1/4"
PT1/4"

PT1/4"
PT1/4"
PT1/4"
PT1/4"
PT3/8"
PT3/8"
PT1/2"
PT1/2"

BELE

E¥ET=2E¥IDesign Number

SCF:IXZEFCD50

M4x30
M4x30
M5x35
M5x40
M6x45
M6x50
M8x70
M10x95
M12x115

AS-228

AS-231

AS-236

Po5

P120
P145
P185
P235
P295
P385

ME

®

SVF-32

/ SCF-32

SVF-40
SVF-50 / SCF-50
SVF-63 / SCF-63
SVF-80 / SCF-80
SVF-100/ SCF-100
SVF-125/ SCF-125
SVF-160

SVF-200

SVF-250

2B
2.5B
3B
3.5B
4B
5B
8B
10B
12B
16B

160
250
400
630
1000
1600
2500
4000
7000
15000

400 / 250
400
400 / 250
400 / 250
400 / 250
400 / 250
400 / 250
400
280
280

Pilot Ratio

3.6
3.6
4.5
4.4
4.6
4.6
4.5
4.3
4.3
4.5

Weight (kg)

1.3
2.2
2.9
4.5
6.8
12.3
205
45
85
156




SERAT\ MM Pre-Fill vaives(flange-clamped type)

—e

1
: S

——— &M Flange

SEEEAYSE How to order
ST F-1 0 0 -1 2C @ 2257 / Model @ 1848/ Size €) 83512 Design Number

®

@ O

R Y3 / Dimensions(unit: mm)

SPF/STF

(SPF-32)~(SPF-250)
(STF-32)~(STF-125)

SPF: 5% #jSCM4 STF:IXZE 5 # FCD50

kil ES e foel ool Bl [N I ) M e

71
88
106
130
160
218 105
280 88 120
340 105 140

33
41
40

65
70
74
85

82
105

o8

61
90.2
101.6
115.5
141.2
167
220
324.5
356.5

135
148
175
200
278
366
429

92 65 62
120 86 62

101
112
150
185
224
286
376

PT 1/4"
PT 1/4"
PT 1/4"
PT 1/4"
PT1/4"
PT3/8"
PT3/8"
PT1/2"
PT1/2"

62
62
62
70
70
85
85

22.5
27
31
36

23
23
23
23
23
43
48
52

&%

56
70
81

1

SPF-32 / STF-32 PF-50 2B 48 103.2 130 111
SPF-50 / STF-50 PF-80 3B 72 89 146 180 42 142
SPF-63 / STF-63 PF-90 3.5B 87 105.7 165 200 50 160
SPF-80/ STF-80 PF-100 4B 106 1305 191 230 57 170
SPF-100/STF-100 PF-125 5B 130 155 230 270 70 200
SPF-125/STF-125 PF-150 6B 170 200 260 298 89 223
SPF-160 PF-200 8B 220 250 367 422 120 310
SPF-200 PF-300 12B 280 310 442 496 145 394
SPF-250 PF-350 14B 340 375.4 515 570 177 462
YHEEUE/ Speciﬁcations

SPF-32 / STF-32 PF-50 AS-228 AS-228 4-M10X35L
SPF-50/ STF-50 PF-80 AS-236 G80o 6-M12X40L
SPF-63 / STF-63 PF-90 P95 G100 6-M12X40L
SPF-80/ STF-80 PF-100 P120 G115 6-M12X40L
SPF-100/STF-100 PF-125 P145 G140 6-M12X40L
SPF-125 /STF-125 PF-150 P185 G170 8-M12X40L
SPF-160 PF-200 P235 P235 8-M16X65L
SPF-200 PF-300 P295 P295 10-M16X70L
SPF-250 PF-350 P360 P360 10-M16X75L

4-M16X45L
6-M16X55L
6-M18X65L
6-M20X70L

12-M20X80L

16-M20X90L
16-M20X95L

16-M30X120L
20-M30X130L
20-M30X150L

400 / 250
400 / 250
400 / 250
400 / 250
400/ 250
400 / 250
400
280
280

400
630
1000
1600
2500
4000
7000
15000

12
16
25
42

108

134

270

@




L] ﬁﬂ ZRTEHIE (EHZ3E) Installation (For reference)
Pre-Fill valves(flange-clamped type)

- SHFSEEMEZE  _ Pressure Rating
Suction Side Pipe 20kg/cm?®
T (KB {RIARS _
L/ 7% Low-Pres.Side Flange”
. // e
i Bro il Valves e SVF/SCF/SPF/STF
y
/ R o FGP
High-Pres. Side Flange
SPET BER#5E _px
Cylinder Pilot Port Adapter
HIlAISEEE  Pressure Rating
Cylinder Side Pipe . 400kg/cm?
. ATNZR/EIRE B ANNZER/EXRE

Right side installation
In line installation.

Left side installation
Directly fitted onto the cylinder base.

L] ﬁfﬂﬂ HESERS (E#2E) Typical application circuit(For reference)
L

SVF/SCF/SPF/STF f _______________________ : "
j |
_re) S
5 ? |
Ascent
f LAl o+ -
= |

mlillav

Lo

TR

Descent

sol b

r=n

@ |

TBFIRZE Rapid Descent

TFENNBR Pressurized Descent

tH7JEREE Clamping
FFEE Ascent

TS
L

\/

\/

Suction
315 Closed
V/ EtBF Timing el Closed

ERHEH Piloted open




-

B2 & 78 75 I EY &8 With Pre-Fill valves model

FGP: /5 [ {5 High-Pres. Side Flange
FGT- {6 B2 {Bl;Z /] Low-Pres. Side Flange

w BRIVAHRZEEERZSE R Flange Dimensions (mm)
FGP-32-2-M16/2B

I— ERE[4E Pipe size

27 HEZ 4% Mounting bolts

2:—fi% [# [ General thickness

4:1I17& [E [E Thickness increase

@D
8F
@B i
2N/ /Y
(<]
- = ; u / o\’ // f*—FGT
| Y 7 N // [ EEERIER
2 4 v .
A Low-Pres. Side Flange
,I #C
#C
?E ,
« 2A ‘
| g
| i . 4
I‘- 17 'ﬂ / / i /"'_FGP
/ o / () SR
gB L] ) High-Pres. Side Flange
BF
gD
32~100;ZWS8ERY
BT Model mmmmnn-nn
REREeR e o 1032 =P
FGP-40-2-M16/2.5B
FGT-40-2-M16/2.58 57 77.1 107 165 91 130.1 22 44 10 2-M4 4-¢22
FGP-50-2-M16/3B
FGT-50-2-M16/38 73 90 125 180 112 146 20 40 10 2-M4 6-218
FGP-50-4-M24/3B 50
el 73 90 125 198 112 154 25 —zg— 10 2-M4 6-926
FGP-63-2-M16/3.5B 20 42 o _
FGT-63-2-M16/3.58 88 102.2 140 198 125 161 —2 35 10 2-M5 8-%18
FGP-63-2-M18/3.5B 20 42
FGT-63-2-M18/3.5B 88 102.2 140 198 125 165 12 35 10 2-M5 6-820
FGP-63-4-M24/3.5B 55
FGT-63-4-M24/3.58 88 102.2 140 214 125 169 27 50 10 2-Mb 8-#26
FGP-80-2-M16/4B 200 5 g _
FGT-80-2-M16/48 108.5 115 166 220 150 187 15 35 10 2-M5 8-918
FGP-80-2-M20/4B 20 45 - _
FGT-80-2-M20/48B 1085 115 166 220 150 191 15 35 10 2-M5 6-822
FGP-80-4-M24/4B 65
FGT-80-4-M24/48 1085 1156 166 240 150 195 27 —c— 10 2-M5 8-#26
FGP-100-2-M22/5B 65 _ o
FGT-100-2-M22/58 132 141 210 280 185 236 —%—3—? 10 2-M6 8-923
FGP-100-4-M30/5B 80

©




gird TWONA s

— L e ‘.
J ﬁﬁﬁﬁﬁﬂﬁﬁiﬁ%@%ﬁ? Flange Dimensions (mm)
3F
@B
N of T
z 2\ . ——FGT
AT R
Low-Pres. Side Flange
@A o~
@ C
@D
. 8C .
. oE .
K oA
— 1
“ ; N @
| VT ‘ / . ;——FGP
5 Y % | EEREEE
y A /| High-Pres. Side Flange

28
oF
%D
125~250 ZW@&ERY
251 Model mmmﬂﬂ-““
FGP-125-2-M24/88 _35__70
FGT-125-2-M24/88 10 —55760 2-M6 12-826
FGP-125-4-M30/88
FOP-125-4-M30/88 165 219 249 354 226 300 —3—8—%8— 15 2-M6 12-832
FGP-160-2-M30/108 40 _ 90

FGT-160-2-M30/108 218 270 312 422 284 367 —35 —go 15 2-M8 16-¢32

FOPT20072MSOMI 270 321 392 510 355 442 —3e——gn- 20 2-M10 20-932

FGP-250-2-M30/16B 55 110 = -
e 350 409 495 632 445 555 —2—110 95 2-Mm12 24-32

o e A Miiies 350 460 495 632 445 555 —33——125— 25 2-M12 22-945

® wmHFEE R [BE5E/ Pre-Fill valves pilot port adapter
TP

SVF/SCF/SPF/STF-32~40~50 0.7mm

- N = +'ﬂ
JJ

i i SVF/SCF/SPF/STF-63 0.8mm —
- SVF/SCF/SPF/STF-80 1.0
BRt3LZESE Sl by m
— SVF/SCF/SPF/STF-100 1.2mm
Orifice Plug  sve/scr/spe/sTF-125- 160 1.5mm PT1/4"

®




—
O ﬁiﬂi Pre-Fill valves = YEE

1. 2§ Body
2. B #R8 Push Rod
3. #FZMET Piston Seat
4. BFIHEE Piston
5. SEEE/E Spring retainer
6. 1TIE8E Washer
7. CE] Spring ring
8. 3B [E#%88 Adapter
9. £ 238 Spring (R)
10. LL[E38%E Spring (L)
11. OBUE O-Ring
12. A7 AEH: Bolt
13. FINEEZ R Bolt

&



